
 

1

2

2

3
4 5

6

7

7

8

8

9

9

10
11

1212 13

14

15

16

17 18

19

20

www.palfinger.com

PK 18002 EH # 1001322260700.03100-A

06/2009

Extension boom 3 + piping

Crane with more than 3 hydraulic extension boom



www.palfinger.com

PK 18002 EH # 100132226 0700.03100-A

06/2009

Extension boom 3 + piping

1 S205T03-C 1 260x140 mmBoom extension-3
2 HIA 130A 2 Guide 3 mm                  
2 HF 578A 2 Guide 6 mm                  
2 HF 577A 2 Guide 5 mm                  
2 HF 576A 2 Guide 4 mm                  
2 HF 575A 2 Guide 2 mm                  
2 HF 608A 2 Guide 1,5 mm                
2 HF 727A 2 Guide 7 mm                  
2 HF 728A 2 Guide 8 mm
2 HF 899A 2 Guide
2 HF 900A 2 Guide
3 KMG01766A 2 Guide block

HF1379A+00008 2 Guide block 8 mm                  
HF1379A+00009 2 Guide block 9 mm                  
HF1379A+00010 2 Guide block 10 mm                 
HF1379A+00011 2 Guide block 11 mm                 
HF1379A+00012 2 Guide block 12 mm                 
HF1379A+00013 2 Guide block 13 mm                 

4 ES 264 2 M 8x16 ISO4762- 8.8Screw
5 HXE8983A 1                       Cylinder guide

EM 006 2 Nut DIN 934 M10 CL8 ZB  
ES 828 2 Screw M 10x40 ISO14581-8.8
EZ2402A 1 Guide block                       

100125061-->

6 UP2069A 1 Extension boom ram
see page 0700.03101-A

7 EM 180A 2 M24x1.5 DIN 80705Nut
8 HIG 957 2 l=33 mm                      Pin
9 EZ2847 2 D 30x14               Guide block
10 HI 704 1 D020.0xL0055.0                Pin

11 EQ 218 1 D 6x30 ISO8752Winding pin
12 HT5746 2 L=42 B=15 S=6 Bearer
13 EF 144 2                       Spring
14 HTR4127 2 Guide block 0.5 mm                
14 HTR3667A 2 Guide block 9 mm                  
14 HTR3331A 2 Guide block 7 mm       
14 HTR4280A 2 Guide block 12 mm                 
14 HTR4125A 2 Guide block 5 mm                  
14 HTR2953A 2 Guide block 10 mm                 
14 HTR2952A 2 Guide block 8 mm                  
14 HTR2951A 2 Guide block 6 mm                  
14 HTR2982 2 Guide block 1 mm                  
15 KMG01760A 2 Guide block

HF1385A+00015 2 Guide block 15 mm                 
HF1385A+00014 2 Guide block 14 mm                 
HF1385A+00013 2 Guide block 13 mm                 
HF1385A+00012 2 Guide block 12 mm                 
HF1385A+00011 2 Guide block 11 mm                 
HF1385A+00010 2 Guide block 10 mm                 
HF1385A+00009 2 Guide block 9 mm                  
HF1385A+00008 2 Guide block 8 mm                  

16 ES1089 4 M 8x10 DIN 7984 8.8      Screw
17 HLR 9430 1 D 16                  Pipe 
18 HLR 9431 1 D 12                  Pipe 
19 EA 039 1 GE 12S R3/8"-ED       Fitting
20 EA 074 1 GE 16S R1/2"-EDFitting

Description DimensionNo. Qty.Spare part


	INDEX 
	 EN 
	0700       Boom extensions
	0700.03100-A     Extension boom 3 + piping




	1_2368: 
	2_2369: 
	2_2370: 
	3_2371: 
	4_2372: 
	5_2373: 
	6_2374: 
	7_2375: 
	7_2376: 
	8_2377: 
	8_2378: 
	9_2379: 
	9_2380: 
	10_2381: 
	11_2382: 
	12_2383: 
	12_2384: 
	13_2385: 
	14_2386: 
	15_2387: 
	16_2388: 
	17_2389: 
	18_2390: 
	19_2391: 
	20_2392: 
	pos_2393: 
	pos_2394: 
	pos_2395: 
	pos_2396: 
	pos_2397: 
	pos_2398: 
	pos_2399: 
	pos_2400: 
	pos_2401: 
	pos_2402: 
	pos_2403: 
	pos_2404: 
	pos_2405: 
	pos_2406: 
	pos_2407: 
	pos_2408: 
	pos_2409: 
	pos_2410: 
	pos_2411: 
	pos_2412: 
	pos_2413: 
	pos_2414: 
	pos_2415: 
	pos_2416: 
	pos_2417: 
	pos_2418: 
	pos_2419: 
	pos_2420: 
	pos_2421: 
	pos_2422: 
	pos_2423: 
	pos_2424: 
	pos_2425: 
	pos_2426: 
	pos_2427: 
	pos_2428: 
	pos_2429: 
	pos_2430: 
	pos_2431: 
	pos_2432: 
	pos_2433: 
	pos_2434: 
	pos_2435: 
	pos_2436: 
	pos_2437: 
	pos_2438: 
	pos_2439: 
	pos_2440: 
	pos_2441: 
	pos_2442: 
	pos_2443: 
	pos_2444: 
	pos_2445: 
	pos_2446: 


